Shingle Creek Watershed Management Commission Treasurer's Report

		2020 Budget	September	October	%age YTD	2020 YTD
REVENUE	%age					
Application Fees		23,000	1,400.00		55.22	12,700.00
Member Assessments		363,590			100.00	363,590.00
Blue Line Extension		1,000			-	-
Interest and Dividends		15,000	14.92		22.01	3,301.23
Education Reimbursement		33,000			54.55	18,000.00
Rain Garden Workshops		8,000			-	-
Transfer to (from) Grants (see following pages)			-	-		128,943.24
Transfer to (from) CIPs						167,095.10
Transfer to (from) Closed Projects Account						_
TOTAL REVENUE		443,590	1,414.92	-		693,629.57
EXPENSES						
ADMINISTRATION						
Administrative Services		71,000	4,366.26	5,035.99	70.59	50,119.96
Engineering Support		17,000	427.25	522.74	44.41	7,549.21
Project Reviews		1,500	163.76	151.56	74.36	1,115.43
. Blue Line Extension		500				-
ENGINEERING						
Administration		62,000	4,334.35	5,460.00	97.28	60,312.06
Grant Application Writing		11,500	2,667.80	300.00	92.57	10,645.50
Project Reviews/WCA		45,000	4,400.20	2,441.90	51.53	23,187.70
Blue Line Extension		500				-
TMDL 5 Year Reviews		12,000			72.61	8,713.70
LEGAL - Legal Services		6,000	241.20	944.70	61.50	3,689.80
MISCELLANEOUS		<u> </u>			•	
Bookkeeping		7,000	795.60	260.00	92.07	6,444.70
Audit		6,500			92.31	6,000.00
Insurance & Bonding		3,100			104.26	3,232.00
Meeting Expense		5,000			23.14	1,157.01
PROGRAMS		<u> </u>			•	
Stream Monitoring		35,000	4,670.41	1,721.58	72.91	25,517.53
Stream Monitoring (USGS)		4,500			-	-
Lake Monitoring		24,000	6,356.69	1,713.63	104.34	25,041.81
Citizen Assisted Lake Monitoring (CAMP)		3,800	208.73		46.26	1,757.71
Volunteer Wetland Monitoring (WHEP)		2,000			-	-
Volunteer Stream Monitoring (River Watch)		1,000			-	-
Annual Monitoring Report		16,000			100.37	16,058.49
Water Quality Education					-	
Education Program		15,000	658.13	1,107.07	87.71	13,156.41
Education Grants		500			-	-
WMWA General Programs		20,000	409.35		28.35	5,669.36
WMWA Special Projects		6,500			-	-
WMWA Ed/Watershed Prep		18,000	56.25		24.57	4,422.85
Rain Garden Workshops		8,000			-	-
Management Plan/Amendments		1,000			29.21	292.09
Subwatershed BMP Assessment		20,000				-
Flood Modeling and Mapping		0	5,899.40			26,437.80
Transfer to (from) Grants (see following pages)			27,820.01	10,247.50		98,042.88
Transfer to (from) CIPs			578.86	50,050.40		58,435.48
Transfer to (from) Partnership BMP Retrofits Fund						43,510.00
Transfer to (from) Closed Projects Account						10,474.68
To/From Reserves		19,690				<u> </u>
TOTAL OPERATING EXPENSE		443,590	64,054.25	79,957.07		510,984.16
CASH SUMMARY				-		.,
4M Fund Balance at 12/31/19						463,980.58
Plus Revenue Received 2020 to date						878,467.38
Minus Claims Approved to Date						(462,017.29)
Minus Claims Presented Current Month						(79,957.07)
Fund Balance			880,430.67			800,473.60
. Sila Balailoo			300,400.07			500, 7 10.00

Shingle Creek Watershed Management Commission Treasurer's Report

Claims Presented	General Ledger Acct No	September	October	Total
Kennedy & Graven				944.70
Legal - General	52001		944.70	
City of Crystal - W Broadway Cost Share Project	20908		50,000.00	50,000.00
Watershed Partners - 2020 Membership	57008		500.00	500.00
Sharon Meister - WMWA Ed Services	57011			-
Sharon Meister - WMWA Ed Reimbursement	57012			
Wenck Associates				22,385.01
General Engineering	51001		5,460.00	
Grant Writing	51005		300.00	
Project Reviews	51002		2,441.90	
Flood Modeling and Mapping	51015			
Plan Amendment	51007			
CAMP	56002			
Stream Monitoring	56004		1,721.58	
Lake Monitoring	56010		1,713.63	
TMDL 5-Year Reviews	56011			
Education	57008		450.00	
Education - WMWA	57009			
Bass/Pomerleau Alum Trmt Grant	70727		2,111.93	
SRP Reduction Grant	70729		2,529.84	
Meadow Lake Mgt Plan Grant	70731		·	
Crystal Lake Management Plan Grant	70732		5,605.73	
Twin Lake Carp Management Follow-up	70809		50.40	
BioChar Filters Ongoing Management	70812			
Bass Creek Stream Restoration Feasibility Study	20910			
Judie Anderson's Secretarial Service				-
WMWA General Expense	57009			
WMWA Educators/WS Prep	57011			
Judie Anderson's Secretarial Service				6,127.36
Administration	53001		5,035.99	·
Project and WCA Review Support	53002		151.56	
Bookkeeping / Audit Prep	54002		260.00	
Education Programs	57008		157.07	
Engineering Support	53004		522.74	
Total Claims				79,957.07
- Lucie Adrauson =				
Judie A Anderson, Deputy Treasurer				

Shingle Creek Watershed Management Commission Treasurer's Report

	Total Grant	September	October	%age YTD	YTD
GRANTS					
Bass/Pomerleau Lakes Internal Load Reduction (BWSR C18	267,040				
Revenue					106,816.00
Expense		16,155.75	2,111.93		48,873.52
Balance		(16,155.75)	(2,111.93)		57,942.48
BWSR Watershed Based Funding	103,571				
Revenue					-
Expense					-
Balance		-	-		-
SRP Reduction Project	72,170				
Revenue					8,869.73
Expense		858.76	2,529.84		18,446.46
Balance		(858.76)	(2,529.84)		(9,576.73)
Crystal Lake Management Plan (MPCA)					
Revenue					7,334.61
Expense		10,805.50	5,605.73		30,722.90
Balance		(10,805.50)	(5,605.73)		(23,388.29)
MN DNR Floodplain Modeling & Mapping	50,000				
Revenue					5,922.90
Expense					-
Balance		-	-		5,922.90
TOTAL GRANTS					
Revenue		-	-		128,943.24
Expense		27,820.01	10,247.50		98,042.88
Balance		(27,820.01)	(10,247.50)		30,900.36



4141 Douglas Drive North • Crystal, Minnesota 55422-1696

Tel: (763) 531-1000 • Fax: (763) 531-1188 • www.crystalmn.gov

Remit To: CITY OF CRYSTAL 4141 DOUGLAS DRIVE N CRYSTAL MN 55422-1696

Billing Address: 117686

SHINGLE CREEK WATERSHED MGMT COMM

ATTN: JUDIE ANDERSON 3235 FERNBROOK LANE N PLYMOUTH MN 55447 **INVOICE**

7681

Invoice Date

10/5/2020

Due Date

11/4/2020

Page: 1

Item	Remark	Amount
001	GRANT REIMB FOR W BROADWAY	50,000.00
002	INFILTRATION PROJECT	
	Total Amount Invoiced	50,000.00
	Balance Due	50,000.00

OK Jupan 10-6-2020

PROGRESS THROUGH August 4, 2020 Kentucky Ave Water Quality Improvements Gry of Crystal

			3		Work Como Thru 8/c/2020	Wu 8/c/2020							
Bid Item Description	เลือ	Quantity	Unit Price	Subtotal	Outmitte	vay Request #1	2	Completed to Date	,	Retainage	Ē	Projected Total	Balance to Finish
BASE BID]											Amuray	Colons	
1 (##OBILIZATION	ŋ		8	DD:C97,C55 S	0.75	5 15,592.50	0.75	\$:5,592.50	L	5 779.63		5 20,790,00	\$ 597.50
7	ā		22.0	\$ 2,000.00	0.9	5 1,800.00	_i	S LEGGED	Ļ	l		l	20005
٦	24	295		\$ 1,652.00	295	5 1.652.00	295	5 1,652.00		5 82 60	582	2 1,652.00	5
A REMOVE AND DISPOSE BITUMINGUS PAVEMENT	ò	Ž.		5,000.00	1250	5 5,000.00		5,000.0		00 05Z S	1250	00'000'5	
S REGIONE AND DISPOSE STORM SEWER STRUCTURE	ថ		**	,,	7	5 1.800.00		15 1,800.00		30 06 S		5 1,820,00	
S REMOVE AND DEMONS STORMER PIPE				5 :.653.00	ř	\$ 1,653.00	ž	1,653.00	2001	5 82.55	114	S 1.653.00	
יייין בריינים אתריים את היייים אתריים אתרים אתריים	\$		00.067.66			5,750.00		ı		5 287.50		\$ 5,750.00	
T	5		\$2,625.00	, ,		2,625,00		5 2,625.00	-	5 131.25		2655.00	\$
Т	ន		517			5 17,300.50		5 :7,300.00		1 S 865.00	1 1	5 17,300,50	
10 AGGREGATE BASE CLASS S	,=	430	\$26.75	ٳ؞	°		٥		_			·	
Т	2	Š		Ş	X	5 < 587.00	×	\$ 4,867.00		\$6.24. 8	L	\$ 4,857,00	
7	5	295		"	٥		٥	\$	*6	·	á	5 752250	5 7 522 50
13 CONCRETE CURE CUT WITH RAIN GUARDIAN	5			S	3	5 6,450.00	2	\$ 5,400,00	L	\$ 320.00	L	5 6 400.00	
14 TYPE 12.5 NOW-WEARING COURSE MIXTURE 13. B) ISPINVAISEDD	NO:	120	5	S.	o	· ·	٥		L	ĺ	L	20 000 00	200000
15 BITUMINOUS MATERIAL FOR TACK COAT	CALLON			s			٥		š		×	30 300	200000
16 ITPE 9.5 WEARING COURSE MICTURE 13. CL (SPINEABADOC)	701 NO.	011	55	ş			٥	·	ĕ		915	1 10 60	2000
17 LATEX PAINT STR.PING	2		5	v					¥.			ĺ	70777
Γ	¥3		50,215,03	345.00	l	אליל א	, ,	37.70	1	2	1	7	305
Γ	5	500	33.00	\$ 500.00	92	2009	Ę	00000		2000	1		69.00
25 IEARPORARY CONSTRUCTION SATISFACE - MAINTAINED	35			200.006	8	S S S S S S S S S S S S S S S S S S S	200	2000	L	l	.	20000	
Γ	2	13		l		2	3 .	2000	1	2000	1	ľ	130,00
22 CANAGE AND RECORDED TORKOR	-		00.034 53	1150.00	, 2	200			L		1		1,680 00
Γ	<u> </u>		1000013			00.000	3	Ì	1	27.0		1,15000	115.00
Т	T NOT			J.	ı	200.000	3	2000	1	e c	1	l	200:005
TO ICOURT ANNUAL DICEID AND COMMA	96			20.020	ı			٠	Š	٠	٥	81000	\$ \$10.00
A STATE OF THE PARTY OF THE PAR	1	1		OCOCCA C	3		2	,	ı	·	ş	350.00	00.056.1
STATES NOTIFIED IN CONTROL OF THE PARTY OF T	; <u> </u>		2613	3,730.00	ŀ	28.750.00	1530	22,750,00	6	5 1.437.53		1	
1	, 		200000000000000000000000000000000000000	מניים לירום	•	מטיטינים:		ı	ı	0.275.00		5 125,500,00	
			1001 1006	22/6,312 UC	1	221,840,50		5 227,840 50	Į	5 11,09203		-	\$ 43,469.00
CHANGE ONDER #1													
3 JADD REMOVE AND DISPOSE OF CONCRETE CURB AND GUTTER	2	278	35.60	\$1.556.80	278	3 556.80	87.¢	1 556 80	L	20.47			
ı	4	276	\$25.50	57,009.00		5	L		ļ	3			
21 JADD SODDING TYPE SALT YOLERANT	ò	303	\$15.00	54,545.00					ě			ļ	1,000
Γ	2	2.7	\$1,150,00	53,105,00			-		ě			M.C.	
Γ	ò	757.	\$23.00	517,411,00	854	19.872.00	Ľ	S) ((X 61)	L	96969	52	00.50.00	3,503,00
27 ADD UNDERGADUND INPLIRATION SYSTEM (54 CHAMBERS)	ภ	6250	\$125.530.00	\$56 329 32	Ī.,		٦	1	ı	ľ	ş ,	077667 6	
1			CHANGE ORDER #1 TOTAL	5:00:095:30	T		200	C 87 818 30	700	1	•	05.585.00	
									1	2000		2000000	70'52'0'
ايز				- 1									
12 OEDUCT CONCRETE CURB AND GUTTER	J.	-336	\$25.50	- 1			۵	- \$	%	· s	316-	\$ (\$.05\$ 00)	\$ 48.053.00
1	2	¥30	\$26.75	- 1			0		ΩX	• 5	Г		\$ (11,502.50)
T	5	316	\$25.50	- {	1	ĺ	٥	ı			91E	9.058.00	5 6,053.00
29 (AUD AGGREGALE BASE CLASS S (SALVAGED)	2	195	STEG	58.295.00	395		395	١	\perp	ı	395	8,295.30	~
			CHANGE DROER EZ TOTAL	-		8,285.00		\$ \$295,00	-259%	\$ 414.75		S (3.207.50)	111,502.501
CHANGE ONDER 83													
30 ADD REMOVE AND REPLACE CONCRETE CURDIC GUTTER DESIGN BS:8	1	335	\$52.50	\$17.587.50			٥		Š		r	5 17 587 503	17487 68
31 ADD REMOVE & REPLACE S-INCH CONCRETE PAVEMENT MILEY	λS	175	\$104,00	518,223.00			٥		č		×.	5 18 200 not	00000
32 ADD REMOVE & REPLACE CONCRETE WALK	IJ.	1200.	\$9.65	\$10,835.00			٥	· •	ž		T	10.835.00	20 CO. C.
	3	110.0	513.50	\$1,485.00	1	,	٥		š	,	Γ	3,485,00	
34 ACD ADJUST FRESHE AND RING CASTING (CATCH BASIN)	EA	5	\$787.60	53,935.00		S			š		57	5 1935.00	3.935.00
35 ADO ADIUST FRAME AND RING CASTING (HAND HOLE)	8	9	\$520,00	53,120,00	-	,			É		T		
	TON	55	\$46.00	51,150,00		,	Γ	٠	%0	ļ.	T	1,150,00	
	Շ	æ	00 S6S	\$2,650.00		,	ē		0%		g:	S 2,350,00	\$ 2,850.00
18 (ADD SEEDING INMOOT 15-15: W/ TYPE S HYDRO MULCH)	λ	E.	\$5.40	5935.00			٩		350			935.00	5. \$35.00
			CHANGE DROSK 83 TOTAL	562,097,50		\$0.00		\$0.00	š	50.00		\$ 60,097 50	50,097.50
			PROTECTION	C433 704 20		A+ 538 C+C>		2007 500	,,,,,				
			THURST TOTAL	large steems		U0.646,7466		3216,126		5.5,397.69		\$424,756.80	5106.303.00

V-\Technica\10094 Eden Prairie\0113 Pond 05-12-C\2B Construction Admin Cbzennation\Pay Requests\Pay Request 1\Paymen | Request 1_2017-9-15.45x

SECTION 00 62 76 APPLICATION FOR PAYMENT FORM

OWNER:

City of Crystal, MN

PROJECT:

Kentucky Avenue Water Quality Improvement

CONTRACTOR:

Pember Companies

PAY ESTIMATE NO. 1

Original Contract Amount \$276,812.00 Contract Changes approved to Date: Change Order 1 \$100,096.30 Change Order 2 <u>-\$3,027.50</u> Change Order 3 \$60,097.50 Revised Contract Price \$433,798.30 Work Completed to Date (attached) \$317,953.80 Retainage to Date, 5% \$15,897.69 **Total Amount Previously Certifled** \$0.00 Payment Request This Estimate \$302,056.11

I declare under penalty of perjury that this account, claim, or demand is just and correct and that no part of it has been paid.

Opelone

CONTRACTOR

CERTIFICATE OF CONTRACTOR

I hereby certify that the work and the materials supplied to date, as shown on the request for payment, represents the actual value of accomplishment under the terms of the contract dated

June 16, 2020 between the City of Crystal, MN (OWNER) and Pember Companies (CONTRACTOR) and all authorized changes thereto.

	1 em Dar Companios In	<i>J</i> ¢.
Ву	Joe Pember	
Title	frigul Managon	
Approval:		, I
PEMBER COMPANIES	Gollember	Date 8 19/2020
WENCK ASSOCIATES, INC.	Todd Shoemaker, P.E.	Date August 17, 2020

END OF SECTION

CITY OF CRYSTAL, MN

Kennedy & Graven, Chartered

150 South Fifth Street, Suite 700 Minneapolis, MN 55402

> (612) 337-9300 41-1225694 September 25, 2020 Statement No. 156981

Shingle Creek Watershed Managment Commission

Judie Anderson

JASS - Watershed Administrators 3235 Fernbrook Lane Plymouth, MN 55447

Through August 31, 2020

SH220-00001

General

944.70

Total Current Billing:

944.70

I declare, under penalty of law, that this account, claim or demand is just and correct and that no part of it has been paid.

Signature of Claimant

Page: 1

Kennedy & Graven, Chartered

150 South Fifth Street, Suite 700 Minneapolis, MN 55402

Shingle Creek Watershed Judie Anderson

August 31, 2020

SH220-00001

General

Through August 31, 20 For All Legal Services		vs:	Hours	Amount
8/6/2020	TJG	Review hearing notice; email regarding same	0.20	40.20
8/7/2020	TJG	Review and respond to email from Diane S regarding funding authority and procedures; email agreement to Diane S for review	1.60	321.60
8/13/2020	TJG	Prepare for and participate in meeting	1.20	241.20
8/26/2020	TJG	Email exchange regarding new cooperative agreement for alum treatment; begin drafting same; discuss same with Diane S	0.70	140.70
8/27/2020	TJG	Continue to work on alum treatment issue; change from a new agreement to drafting an amendment of the original agreement; email same to Diane S for review; email same to Judie and Ben	1.00	201.00
		Total Services:	\$	944.70
		Total Services and Disburseme	nts: \$	944.70

METRO WATERSHED PARTNERS



INVOICE

Attention: Amy Juntunen

Shingle Creek Watershed Management Commission

3235 Fernbrook Lane N.

651-523-2812

Plymouth, MN 55447

ilarson25@hamline.edu

Date: 9/23/20

Metro Watershed Partners Hamline University 1536 Hewitt Ave. MS-A1760 Saint Paul, MN 55104

Project Title: Clean Water Minnesota & Adopt-a-Drain

Terms: 30 Days

Description	Cost
2020 Membership: Clean Water MN & Adopt-a-Drain	\$500.00
TOTAL	\$500.00

Thanks for your membership in Clean Water MN. Your dollars support:

- Monthly blog posts with timely, consistent messages to encourage behaviors that improve water quality.
- New photographs that feature local residents taking action to protect lakes and rivers.
- Monthly meetings with information on partner activities, presentations by informative speakers, and updates on WSP activities.
- Maintenance of the Watershed Partners listsery.
- Development and implementation of a clean water exhibit at the Minnesota State Fair in the Eco-experience building.
- Site license to use Adopt-a-Drain.
- Recognition as a supporting partner of Adopt-a-Drain for residents in your service area.
- Access to an administrative interface on <u>Adopt-a-Drain.org</u> that includes access to reporting and other information useful for MS4 reporting and communications.
- Access to purchase print promotional resources with partner logo.
- Access to purchase mailed packets and yard signs for participants.

Duration of service: January 1 - December 31st, 2020. Unspent funds will rollover to support program activities in 2021.

October 7, 2020

Ms. Judie Anderson

Invoice No:

12006714



Responsive partner. Exceptional outcomes.

Shingle Creek Watershed Management Commission 3235 Fernbrook Lane Plymouth, MN 55447

Project Manager

Edward Matthiesen

Project

B001240-20-220

2020 General Engineering - Shingle Creek

Professional Services Through September 30, 2020

Phase

2020 General Engineering

2020 General Engineering

Professional Personnel

	Hours	Rate	Amount
Matthiesen, Edward	8.30	200.00	1,660.00
Spector, Diane	17.00	200.00	3,400.00
Weigel, Eileen	2.50	160.00	400.00
Totals	27.80		5,460.00

Total Labor

5,460.00

Phase Total

\$5,460.00

Total Invoice Amount

\$5,460.00

Current

Prior

Total

Billing Summary

5,460.00

54,852.06

60,312.06

October 7, 2020

Invoice No:

12006715



Responsive partner. Exceptional outcomes.

Ms. Judie Anderson Shingle Creek Watershed Management Commission 3235 Fernbrook Lane Plymouth, MN 55447

Project Manager

Diane Spector

Project

B001240-20-221

2020 Grant Writing - Shingle Creek

Professional Services Through September 30, 2020

Professional Personnel

 Spector, Diane
 Hours
 Rate
 Amount

 1.50
 200.00
 300.00

 Totals
 1.50
 300.00

Total Labor

300.00

Total Invoice Amount

\$300.00

Billing Summary

Current

Prior

Total

300.00 10,345.50 10,645.50

October 7, 2020

Invoice No:

12006717



Ms. Judie Anderson
Shingle Creek Watershed Management Commission
3235 Fernbrook Lane
Plymouth, MN 55447

Responsive partner. Exceptional outcomes.

					Project Manager	Edward Matthiesen
Project	B001240-20-22	24 2020 Project Revi	iews - Shingl	e Creek		
<u>Professional S</u>	<u>Services Through S</u>	September 30, 2020				
Phase	01	General Project Reviews				
General Project	Reviews					
Professional P	Personnel					
			Hours	Rate	e Amount	
Matthiesen	, Edward		2.10	200.00	420.00	
Spector, Di			.80	200.00	160.00	
	Totals		2.90		580.00	
	Total Labor					580.00
					Phase Total	\$580.00
Phase WCA	02	WCA				
WCA Professional F	Parcannal					
riolessional F	CISUIIICI			n		
_,			Hours	Rate		
Dietrich, M			3.30	123.00		
	Totals		3.30		405.90	ANE OC
	Total Labor					405.90
					Phase Total	\$405.90
-	04	CSAH 81 Bridges				
CSAH 81 Bridge	es					
Professional F						
			Hours	Rate	e Amount	
Matthiesen	. Edward		2.30	200.00	=	
, idealiesen	Totals		2.30	-	460.00	
	Total Labor		=:==			460.00
					B1 . P 1	4450.00
					Phase Total	\$460.00
- Phase	08	Crescent Cove				
Crescent Cove						
Professional F	Personnel					
			Hours	Rate		
Matthiesen	, Edward		.30	200.0		
	Totals		.30		60.00	
	Total Labor					60.00
					Phase Total	\$60.00
						·

Project	B001240-20-224	2020 Project Reviews	- Shingle C	reek	Invoic	e 1200671
Phase	10					
Middle of th						
	nal Personnel					
			Hours	Rate	Amount	
Kemmi	tt, Katie		1,10	99.00	108.90	
	esen, Edward		.70	200.00	140.00	
	Totals		1.80		248.90	
	Total Labor					248.90
				Pha	se Total	\$248.90
Phase	11	Crystal MAC Boardwalk				
•	C Boardwalk					
Protession	nal Personnel			n	4 4	
			Hours	Rate	Amount 29.70	
	tt, Katie		.30	99.00	140.00	
Matthie	esen, Edward		.70 1.00	200.00	169.70	
	Totals Total Labor		1.00		109.70	169.70
	iotai Labor					105.70
				Pha	se Total	\$169.70
 Phase	13	Bass Lake Shoreline Res	-			
	Shoreline Restoration					
			Hours	Rate	Amount	
Kemm	itt, Katie		2.60	99.00	257.40	
	esen, Edward		1.30	200.00	260.00	
	Totals		3.90		517.40	
	Total Labor					517.40
				Pha	se Total	\$517.40
				Total Invoice	Amount	\$2,441.90
		Current	Prior	Total		

20,745.80

23,187.70

2,441.90

Billing Summary

October 7, 2020

Invoice No:

12006718

WENCK

Ms. Judie Anderson Shingle Creek Watershed Management Commission 3235 Fernbrook Lane Plymouth, MN 55447

Responsive partner. Exceptional outcomes.

Project Manager

Diane Spector

Project

B001240-20-225

2020 Stream Monitoring

Professional Services Through September 30, 2020

Professional Personnel

	Hours	Rate	Amount
Hyams, Aaron	1.40	64.00	89.60
Stone, Alicia	6.90	87.00	600.30
, Totals	8.30		689.90

Total Labor 689.90

Outside Services

RMB Environmental Laboratories, Inc. 992.00

Outside Services Total 992.00 992.00

Unit Billing

00-WAI Vehicle Golden Valley

39.68

Total Invoice Amount

\$1,721.58

 Current
 Prior
 Total

 Billing Summary
 1,721.58
 23,795.95
 25,517.53

October 7, 2020

Ms. Judie Anderson

3235 Fernbrook Lane

Plymouth, MN 55447

Invoice No:

12006716

Shingle Creek Watershed Management Commission



Responsive partner. Exceptional outcomes.

Project Manager

Diane Spector

Project

B001240-20-222

2020 Lake Monitoring

Professional Services Through September 30, 2020

Professional Personnel

	Hours	Rate	Amount
Kemmitt, Katie	5.10	99.00	504.90
Omodt, Nicholas	.30	99.00	29.70
Stone, Alicia	4.70	87.00	408.90
Wilkinson, Anne	1.00	135.00	135.00
Totals	11.10		1,078.50

Total Labor 1,078.50

Outside Services

RMB Environmental Laboratories, Inc. 415.00

Outside Services Total 415.00 415.00

Reimbursable Expenses

Mileage - Reimbursable 5.75

Total Reimbursables 5.75 5.75

Unit Billing

00-WAI Vehicle Golden Valley

01-Crestliner Boat

01-Data Sonde - YSI EXO

214.38

Total Invoice Amount

\$1,713.63

Billing Summary

Current 1,713.63 Prior 23,328.18

Total 25,041,81

October 7, 2020

Ms. Judie Anderson

3235 Fernbrook Lane

Plymouth, MN 55447

Invoice No:

12006713

Shingle Creek Watershed Management Commission



Responsive partner. Exceptional outcomes.

Project Manager

Diane Spector

Project

B001240-20-219

2020 Education and Outreach

Professional Services Through September 30, 2020

General Education

General Education

Professional Personnel

Hours

Rate

Amount

Spector, Diane

4.50

200.00

900.00

Totals

Total Labor

4.50

900.00

900.00

Phase Total

\$900.00

Total Invoice Amount

\$900.00

Billing Summary

Current

Prior

Total

900.00

23,109.40

24,009.40

SC Education - 450.00 WM Education - 450.00

October 7, 2020

Invoice No:

12006709



Ms. Judie Anderson Shingle Creek Watershed Management Commission 3235 Fernbrook Lane Plymouth, MN 55447

Responsive partner. Exceptional outcomes.

Project Manager

Diane Spector

Project

B001240-18-200

Bass and Pomerleau Lakes Alum Treatment

Professional Services Through September 30, 2020

Phase

01

Technical Services

Technical Services

Professional Personnel

 Spector, Diane
 Hours
 Rate
 Amount

 Spector, Diane
 2.80
 198.00
 554.40

 Totals
 2.80
 554.40

Total Labor

Phase Total

554.40 \$554.40

Phase 02 Lake WQ Monitoring

Lake WQ Monitoring

Professional Personnel

	Hours	Rate	Amount
Kemmitt, Katie	5.20	97.00	504.40
Stone, Alicia	4.80	86.00	412.80
Wilkinson, Anne	1.00	130.00	130.00
Totals	11.00		1,047.20

Total Labor 1,047.20

Outside Services

RMB Environmental Laboratories, Inc.

Outside Services Total

Total Reimbursables

380.00

380.00 380.00

Reimbursable Expenses

Mileage - Reimbursable

5.18

5.18 5.18

Unit Billing

00-WAI Vehicle Golden Valley 01-Data Sonde - YSI EXO Boat and Motor (100) Canoe

125.15

Phase Total

\$1,557.53

Total Invoice Amount

\$2,111.93

Current Billing Summary 2,111.93

Prior 86,730.22

Total 88,842.15

INVOICES ARE DUE UPON PRESENTATION. Subject to 1-1/2% 18% Annum interest/finance charge. Please reference the invoice number when sending payment. Federal Tax ID #41-1520095 -Wenck Associates, Inc.-1800 Pioneer Creek Center PO Box 249- Maple Plain, MN 55359-0249 Toll Free:800-472-2232 Main:763-479-4200 E-mail:accounting@wenck.com Web www.wenck.com

October 7, 2020

Ms. Judie Anderson

3235 Fernbrook Lane

Plymouth, MN 55447

Invoice No:

12006710

Shingle Creek Watershed Management Commission



Responsive partner. Exceptional outcomes.

Project Manager

Diane Spector

Project

B001240-19-212

Shingle Creek SRP Reduction Project

Professional Services Through September 30, 2020

Phase

Λ3

Monitoring

Monitoring

Professional Personnel

	Hours	Rate	Amount
Scientist I			
Kemmitt, Katie	16.30	78.09	1,272.87
Stone, Alicia	3.20	78.09	249.89
Totals	19.50		1,522.76

Total Labor 1,522.76

Outside Services

RMB Environmental Laboratories, Inc.

Outside Services Total

220.00

220.00

220.00

Unit Billing

00-WAI Vehicle Golden Valley 01-Data Sonde - YSI EXO

78.76

Phase Total

\$1,821.52

Phase

04

Evaluation

Evaluation

Professional Personnel

		Hours	Rate	Amount
Scientist II Kallio, Brian		1.20	97.48	116.98
	Totals	1.20		116.98
	T-4-11-6			

Total Labor 116.98

Phase Total

\$116.98

Phase 06 Semiannual/Annual Reports

Semiannual/Annual Reports

Professional Personnel

	Hours	Rate	Amount	
Project Manager				
Spector, Diane	4.30	137.52	591.34	
Totals	4.30		591.34	
Total Labor				591.34

Project B001240-19-212 Shingle Creek SRP Reduction Project Invoice 12006710

Phase Total

\$591.34

Total Invoice Amount

\$2,529.84

Current Prior Total Billing Summary 2,529.84 106,418.94 108,948.78

October 7, 2020

Invoice No:

12006712



Ms. Judie Anderson Shingle Creek Watershed Management Commission 3235 Fernbrook Lane Plymouth, MN 55447

Responsive partner. Exceptional outcomes.

Project Manager

Diane Spector

Project

B001240-20-216

Crystal Lake Management Plan

Professional Services Through September 30, 2020

Water Quality Monitoring

Water Quality Monitoring

Professional Personnel

		Hours	Rate	Amount	
Kemmitt, Katie		5.10	99.00	504.90	
Stone, Alicia		4.50	87.00	391.50	
Wilkinson, Anne	•	.50	135.00	67.50	
,	Totals	10.10		963.90	
	Total Labor				963.90
ıtside Services					

Out

Outside Services Total	188.00	188.00
RMB Environmental Laboratories, Inc.	188.00	

Reimbursable Expenses

Mileage - Reimbursable	5.18	
Total Reimbursables	5.18	5.18

Unit Billing

00-WAI Vehicle Golden Valley

01-Crestliner Boat

01-Data Sonde - YSI EXO

216.50

Phase Total

\$1,373.58

Phase	02A	Carp Assessment & Tracking
nase	02,1	Carp 110000011101110 01 11 11 11 11 11 11

Carp Assessment & Tracking

Professional Personnel

	Hours	Rate	Amount	
Berner, Bradley	12.50	99.00	1,237.50	
Kemmitt, Katie	1.70	99.00	168.30	
Omodt, Nicholas	16.10	99.00	1,593.90	
Spector, Diane	.30	200.00	60.00	
Strom, Jeffrey	.70	148.00	103.60	
Totals	31.30		3,163.30	
				2

3,163.30 **Total Labor**

Unit Billing

00-WAI Vehicle Golden Valley 01-Electrofishing Boat

1,029.25

	/	gement Plan		Invo	ice 1200671
			Phas	e Total	\$4,192.55
04 & Final Report	Semi-annual & Final	Report			
ai Personnei		Uaura	Doto	Amount	
			99.00		
Totals		.40		39.60	
Total Laboi	•				39.60
			Phas	e Total	\$39.60
		т	otal Invoice A	mount	\$5,605.73
		Policy	Takal		
Ē	& Final Report al Personnel t, Katie Totals	& Final Report al Personnel t, Katie	& Final Report al Personnel Hours t, Katie Totals Total Labor T	04 Semi-annual & Final Report & Final Report al Personnel Hours Rate t, Katie .40 99.00 Totals .40 Total Labor Phase	04 Semi-annual & Final Report & Final Report al Personnel t, Katie

25,117.17

30,722.90

5,605.73

Billing Summary

October 7, 2020

Ms. Judie Anderson

Invoice No:

12006711



Responsive partner. Exceptional outcomes.

Shingle Creek Watershed Management Commission 3235 Fernbrook Lane Plymouth, MN 55447

Project Manager

Diane Spector

Project

B001240-19-214

2019 Twin Lake Carp Management

Professional Services Through September 30, 2020

Phase

01

Carp & SAV Management

Professional Personnel

Hyams, Aaron .80 63.00 50.40

Carp & SAV Management

Totals .80 50.40

Total Labor 50.40

Phase Total \$50.40

Total Invoice Amount \$50.40

Current

Prior

Total

Billing Summary

50.40

11,772.07

11,822.47



3235 Fernbrook Lane Plymouth MN 55447

Shingle Creek / West Mississippi Watershed Management Commissions 3235 Fernbrook Lane Plymouth, MN 55447

October 5, 2020

			Sł	ningle Cree	ek	V	Vest Missis	sippi	Total Proj	ect Area
	Share	G/L							sc	WM
Administrative		53001	0.25	60.00	15.00		60.00	-		
Administrative	70-30	53001		60.00	-		60.00	-		
Administrative		53001	21.38	65.00	1,389.70	13.44	65.00	873.60		
Administrative	70-30	53001	26.12	65.00	1,188.46		65.00	509.34		
Admin - Offsite		53001	0.67	70.00	46.90	0.67	70.00	46.90		
Admin - virtual meeting	70-30	53001	3.58	70.00	175.42		70.00	75.18		
Office Support	70-30	53001	12.00	200.00	1,680.00		200.00	720.00		
Data Processing/File Mgmt		53001		55.00	-		55.00	-		
Data Processing/File Mgmt		53001	0.27	60.00	16.20	0.27	60.00	16.20		
Data Processing/File Mgmt	70-30	53001		60.00	-		60.00	-		
Admin Reimbursables		53001	524.31	1.00	524.31	170.27	1.00	170.27	5,035.990	2,411.490
Bookkeeping		54022	4.00	65.00	260.00	2.34	65.00	152.10		
Audit Prep		54022		60.00	-		60.00	-		
Audit Prep		54022		65.00	-		65.00	-	260.000	152.100
Project / WCA Reviews - Admin		53002	0.96	65.00	62.40	0.53	65.00	34.45		
Project Reviews - File Mgmt		53002		55.00	-		55.00	-		
Reimbursable Expenses		53002	89.16	1.00	89.16	101.12	1.00	101.12	151.560	135.570
Education - Admin	50-50	57008		65.00	-		60.00	-		
Education - Admin - virtual	50-50	57008	3.16	70.00	110.60		70.00	110.60		
Education Grant	50-50	57007		65.00	-		65.00	-		
Website	50-50	57008		60.00	-		55.00	-		
Website	50-50	57008	1.43	65.00	46.48		60.00	46.48		
Education Reimbursables	50-50	57008		1.00	-		1.00	-	157.075	157.075
Engineering Support - Admin		53004	0.98	65.00	63.70	1.08	65.00	70.20		
Engineering Support - Admin	70-30	53004	7.81	65.00	355.36		60.00	152.30		
Engineering Support - virtual	70-30	53004	0.67	70.00	32.83		70.00	14.07		
Engineering Support Rembursables	70-30	53004	70.85	1.00	70.85	27.15	1.00	27.15	522.735	263.715
					6,127.36			3,119.95	6,127.360	3,119.950

West Mississippi Watershed Management Commission Treasurer's Report

Member Assessments		2020 Budget	September	October	%age YTD	2020 YTD
Member Assessments	REVENUE					
Bible Line Extension	Application Fees	18,000	3,900.00		73.89	13,300.00
Interest & Dividend Income	Member Assessments	153,600			100.00	153,600.00
Miscellaneous Income	Blue Line Extension	1,000				-
Transfer to (from) CIPs (see CIP Tracker page)	Interest & Dividend Income	5,000	10.20		48.83	2,441.41
To (From) Reserve	Miscellaneous Income					-
EXPENSES ADMINISTRATION Administrative Services 31,000 1,693.75 2,411.49 75.38 23,369.1	Transfer to (from) CIPs (see CIP Tracker page)					27,632.85
EXPENSES	To (From) Reserve					-
ADMINISTRATION	TOTAL REVENUE	177,600	3,910.20	-		196,974.26
Administrative Services 31,000 1,693.75 2,411.49 75.38 23,369.1 Engineering Support	EXPENSES					
Engineering Support	ADMINISTRATION					
Project Reviews 1,500 166.01 135.57 57.77 866.5 Blue Line Extension 500 500 500 500 ENGINECRING	Administrative Services	31,000	1,693.75	2,411.49	75.38	23,369.17
Blue Line Extension	Engineering Support	4,500	172.78	263.72	59.28	2,667.60
ENGINEERING Administration 31,000 2,389.50 2,819.20 98.96 30,684.4	Project Reviews	1,500	166.01	135.57	57.77	866.59
Administration 31,000 2,389.50 2,819.20 98.98 30,684.4 Grant Application Writing 1,000 200.00 50.35 503.5 Project Review 27,600 2,263.10 2,936.95 67.53 18,638.4 Blue Line Extension 500 .0.00 - LEGAL Legal Services 5,000 221.10 241.20 47.26 2,363.2 MISCELLANEOUS Bookkeeping 3,000 286.65 152.10 80.48 2,414.4 Audit 5,500 81.82 4,500.0 Insurance & Bonding 2,800 115.43 3,232.6 Meeting Expense 2,700 18.37 495.8 PROJECTS Volunteer Wetland Monitoring (WHEP) 2,000 2,000.00 100.00 2,000.0 Macroinvertebrate Monitoring (River Watch) 1,000 0.00 0.00 - Outfall and Stream Monitoring (River Watch) 1,000 0.00 0.00 1.000 0.00 1.000 0.00 0.	Blue Line Extension	500				
Grant Application Writing	ENGINEERING					
Project Review 27,600 2,263.10 2,936.95 67.53 18,638.4	Administration	31,000	2,389.50	2,819.20	98.98	30,684.40
Blue Line Extension	Grant Application Writing	1,000		260.00	50.35	503.50
LEGAL Legal Services 5,000 221.10 241.20 47.26 2,363.2 MISCELLANEOUS 3,000 286.65 152.10 80.48 2,414.4 Audit 5,500 81.82 4,500.0 Insurance & Bonding 2,800 115.43 3,232.0 Meeting Expense 2,700 18.37 495.8 PROJECTS Volunteer Wetland Monitoring (WHEP) 2,000 2,000.00 100.00 2,000.0 Macroinvertebrate Monitoring (River Watch) 1,000 0.00 - 0.00 - 0.00 Outfall and Stream Monitoring 20,000 1,022.91 410.05 42.11 8,422.8 Annual Water Quality Report 8,000 86.03 6,882.2 Water Quality Education 15,000 658.13 1,107.07 87.71 13,156.4 Education Grants 500 60.00 3,000.0 WMWA General Programs 5,000 60.00 3,000.0 WMWA Special Projects 2,000 50.00 1,000.0 WMWA Educators/Watershed Prep 4,500 44.44 2,000.0 Rain Garden Workshops 2,000 875.00 75.00 1,500.0 Management Plani/Amendments 1,000 875.00 75.00 1,500.0 Transfer to (from)CIPs 289.42 289.42 289.42 To (from) Reserves 177,600 11,163.35 11,612.35 128,111.2 CASH SUMMARY 4M Fund Balance at 12/31/19 543,439.0 Plus Revenue Received to Date 197,091.7 Minus Claims Approved to Date (126,853.4 Minus Claims Presented Current Month) (11,612.3	Project Review	27,600	2,263.10	2,936.95	67.53	18,638.40
Legal Services	Blue Line Extension	500			0.00	-
MISCELLANEOUS Bookkeeping 3,000 286.65 152.10 80.48 2,414.4 Audit 5,500 81.82 4,500.5 Insurance & Bonding 2,800 115.43 3,232.0 Meeting Expense 2,700 18.37 495.8 PROJECTS Volunteer Wetland Monitoring (WHEP) 2,000 2,000.00 100.00 2,000.0 Macroinvertebrate Monitoring (River Watch) 1,000 0.00 - 0.00 Outfall and Stream Monitoring (River Watch) 1,000 86.03 6,882.2 Mater Quality Report 8,000 410.05 42.11 8,422.8 Annual Water Quality Education 15,000 658.13 1,107.07 87.71 13,156.4 Education Grants 500 0.00 - 0.00 - 0.00 WMWA General Programs 5,000 658.13 1,107.07 87.71 13,156.4 Education Grants 500 50.00 1,000.0 WMWA Special Projects 2,000 50.00 1,000.0 WMWA Educators/Watershed Prep 4,500 44.44 2,000.0 Rain Garden Workshops 2,000 875.00 75.00 1,500.0 Management Plan/Amendments 1,000 875.00 75.00 1,500.0 Transfer to (from)CIPs 289.42 289.42 289.42 To (from) Reserves 177,600 11,163.35 11,612.35 128,111.2 CASH SUMMARY 4M Fund Balance at 12/31/19 543,439.0 Minus Claims Approved to Date 197,091.7 Minus Claims Presented Current Month (11,612.35 11,	LEGAL					
Bookkeeping 3,000 286.65 152.10 80.48 2,414.4 Audit 5,500 81.82 4,500.0 Insurance & Bonding 2,800 115.43 3,232.0 Meeting Expense 2,700 18.37 495.8 PROJECTS	Legal Services	5,000	221.10	241.20	47.26	2,363.20
Audit 5,500 81.82 4,500.0 Insurance & Bonding 2,800 115.43 3,232.0 Meeting Expense 2,700 18.37 495.8 PROJECTS Volunteer Wetland Monitoring (WHEP) 2,000 2,000.00 100.00 2,000.0 Macroinvertebrate Monitoring (River Watch) 1,000 0.00 - Outfall and Stream Monitoring 20,000 1,022.91 410.05 42.11 8,422.8 Annual Water Quality Report 8,000 86.03 6,882.2 Water Quality Education Education 15,000 658.13 1,107.07 87.71 13,156.4 Education 6rants 500 0.00 - WMWA General Programs 5,000 60.00 3,000.0 WMWA Special Projects 2,000 50.00 1,000.0 WMWA Educators/Watershed Prep 4,500 875.00 75.00 1,000.0 Rain Garden Workshops 2,000 875.00 75.00 1,500.0 Management Plan/Amendments 1,000 875.00 75.00 1,500.0 Management Plan/Amendments 1,000 12.52 125.1 Flood modeling and mapping 0 - Transfer to (from)CIPs 289.42 289.42 289.4 TO (from) Reserves - TOTAL OPERATING EXPENSE 177,600 11,163.35 11,612.35 128,111.2 CASH SUMMARY 4M Fund Balance at 12/31/19 543,439.0 Plus Revenue Received to Date 197,091.7 Minus Claims Approved to Date 197,091.7 Minus Claims Presented Current Month	MISCELLANEOUS					
Insurance & Bonding	Bookkeeping	3,000	286.65	152.10	80.48	2,414.45
Meeting Expense 2,700 18.37 495.8	Audit	5,500			81.82	4,500.00
PROJECTS Volunteer Wetland Monitoring (WHEP) 2,000 2,000.00 100.00 2,000.00 Macroinvertebrate Monitoring (River Watch) 1,000 0.00 - 0.00	Insurance & Bonding	2,800			115.43	3,232.00
Volunteer Wetland Monitoring (WHEP) 2,000 2,000.00 100.00 2,000.00 Macroinvertebrate Monitoring (River Watch) 1,000 0.00 - Outfall and Stream Monitoring 20,000 1,022.91 410.05 42.11 8,422.8 Annual Water Quality Report 8,000 86.03 6,882.2 Water Quality Education 500 86.03 6,882.2 Water Quality Education 15,000 658.13 1,107.07 87.71 13,156.4 Education Grants 500 0.00 - 0.00 - WMWA General Programs 5,000 60.00 3,000.0 - WMWA Special Projects 2,000 50.00 1,000.0 WMWA Educators/Watershed Prep 4,500 44.44 2,000.0 Rain Garden Workshops 2,000 875.00 75.00 1,500.0 Management Plan/Amendments 1,000 289.42 289.4 289.4 To (from) Reserves 70 (from) Reserves 289.42 289.4 289.4 TO (from) Reserves <t< td=""><td>Meeting Expense</td><td>2,700</td><td></td><td></td><td>18.37</td><td>495.86</td></t<>	Meeting Expense	2,700			18.37	495.86
Macroinvertebrate Monitoring (River Watch)	PROJECTS					
Outfall and Stream Monitoring 20,000 1,022.91 410.05 42.11 8,422.8 Annual Water Quality Report 8,000 86.03 6,882.2 Water Quality Education 15,000 658.13 1,107.07 87.71 13,156.4 Education Grants 500 0.00 - WMWA General Programs 5,000 60.00 3,000.0 WMWA Special Projects 2,000 50.00 1,000.0 WMWA Educators/Watershed Prep 4,500 44.44 2,000.0 Wair Garden Workshops 2,000 875.00 75.00 1,500.0 Management Plan/Amendments 1,000 12.52 125.1 Flood modeling and mapping 0 - - To (from) Reserves - 289.42 289.42 TOTAL OPERATING EXPENSE 177,600 11,163.35 11,612.35 128,111.2 CASH SUMMARY 4M Fund Balance at 12/31/19 543,439.0 197,091.7 Minus Claims Approved to Date (126,853.4 Minus Claims Presented Current Month (11,612.3	Volunteer Wetland Monitoring (WHEP)	2,000	2,000.00		100.00	2,000.00
Outfall and Stream Monitoring 20,000 1,022.91 410.05 42.11 8,422.8 Annual Water Quality Report 8,000 86.03 6,882.2 Water Quality Education 15,000 658.13 1,107.07 87.71 13,156.4 Education Grants 500 0.00 - WMWA General Programs 5,000 60.00 3,000.0 WMWA Special Projects 2,000 50.00 1,000.0 WMWA Educators/Watershed Prep 4,500 44.44 2,000.0 Wain Garden Workshops 2,000 875.00 75.00 1,500.0 Management Plan/Amendments 1,000 12.52 125.1 Flood modeling and mapping 0 - - To (from) Reserves - 289.42 289.42 TOTAL OPERATING EXPENSE 177,600 11,163.35 11,612.35 128,111.2 CASH SUMMARY 4M Fund Balance at 12/31/19 543,439.0 197,091.7 Minus Claims Approved to Date (126,853.4 Minus Claims Presented Current Month (11,612.3	Macroinvertebrate Monitoring (River Watch)	1,000			0.00	-
Water Quality Education 15,000 658.13 1,107.07 87.71 13,156.4 Education Grants 500 0.00 - WMWA General Programs 5,000 60.00 3,000.0 WMWA Special Projects 2,000 50.00 1,000.0 WMWA Educators/Watershed Prep 4,500 44.44 2,000.0 Rain Garden Workshops 2,000 875.00 75.00 1,500.0 Management Plan/Amendments 1,000 12.52 125.1 Flood modeling and mapping 0 289.42 289.42 To (from) Reserves - - TO (from) Reserves - - TOTAL OPERATING EXPENSE 177,600 11,163.35 11,612.35 128,111.2 CASH SUMMARY 4M Fund Balance at 12/31/19 543,439.0 91.7 <td< td=""><td></td><td>20,000</td><td>1,022.91</td><td>410.05</td><td>42.11</td><td>8,422.85</td></td<>		20,000	1,022.91	410.05	42.11	8,422.85
Education 15,000 658.13 1,107.07 87.71 13,156.4 Education Grants 500 0.00 - WMWA General Programs 5,000 60.00 3,000.0 WMWA Special Projects 2,000 50.00 1,000.0 WMWA Educators/Watershed Prep 4,500 44.44 2,000.0 Rain Garden Workshops 2,000 875.00 75.00 1,500.0 Management Plan/Amendments 1,000 12.52 125.1 Flood modeling and mapping 0 - Transfer to (from)CIPs 289.42 289.42 289.42 To (from) Reserves 70TAL OPERATING EXPENSE 177,600 11,163.35 11,612.35 128,111.2 CASH SUMMARY 4M Fund Balance at 12/31/19 543,439.0 Plus Revenue Received to Date 197,091.7 Minus Claims Approved to Date (126,853.4 Minus Claims Presented Current Month (11,612.35 11,612.35 128,13.4 Minus Claims Presented Current Month (11,612.35 128,13.4 Minus Claims Presented Curren	Annual Water Quality Report	8,000			86.03	6,882.21
Education Grants	Water Quality Education					
WMWA General Programs 5,000 60.00 3,000.0 WMWA Special Projects 2,000 50.00 1,000.0 WMWA Educators/Watershed Prep 4,500 44.44 2,000.0 Rain Garden Workshops 2,000 875.00 75.00 1,500.0 Management Plan/Amendments 1,000 12.52 125.1 Flood modeling and mapping 0 - - Transfer to (from)CIPs 289.42 289.42 To (from) Reserves - - TOTAL OPERATING EXPENSE 177,600 11,163.35 11,612.35 128,111.2 CASH SUMMARY - - - - - 4M Fund Balance at 12/31/19 543,439.0 -	Education	15,000	658.13	1,107.07	87.71	13,156.41
WMWA Special Projects 2,000 50.00 1,000.0 WMWA Educators/Watershed Prep 4,500 44.44 2,000.0 Rain Garden Workshops 2,000 875.00 75.00 1,500.0 Management Plan/Amendments 1,000 12.52 125.1 Flood modeling and mapping 0 289.42 289.42 To (from) CIPs 289.42 289.42 TO (from) Reserves 11,163.35 11,612.35 128,111.2 CASH SUMMARY 4M Fund Balance at 12/31/19 543,439.0 91.7,091.7 Minus Claims Approved to Date (126,853.4 (126,853.4 Minus Claims Presented Current Month (11,612.3	Education Grants	500			0.00	-
WMWA Educators/Watershed Prep 4,500 44.44 2,000.0 Rain Garden Workshops 2,000 875.00 75.00 1,500.0 Management Plan/Amendments 1,000 12.52 125.1 Flood modeling and mapping 0 289.42 289.4 To (from) CIPs 289.42 289.4 TO (from) Reserves 177,600 11,163.35 11,612.35 128,111.2 CASH SUMMARY 4M Fund Balance at 12/31/19 543,439.0 543,439.0 Plus Revenue Received to Date 197,091.7 Minus Claims Approved to Date (126,853.4 Minus Claims Presented Current Month (11,612.3 (11,612.3	WMWA General Programs	5,000			60.00	3,000.00
Rain Garden Workshops 2,000 875.00 75.00 1,500.0 Management Plan/Amendments 1,000 12.52 125.1 Flood modeling and mapping 0 - - Transfer to (from)CIPs 289.42 289.4 To (from) Reserves - - TOTAL OPERATING EXPENSE 177,600 11,163.35 11,612.35 128,111.2 CASH SUMMARY - - 543,439.0 197,091.7 Minus Revenue Received to Date 197,091.7 (126,853.4 Minus Claims Approved to Date (126,853.4 Minus Claims Presented Current Month (11,612.3	WMWA Special Projects	2,000			50.00	1,000.00
Management Plan/Amendments 1,000 12.52 125.1 Flood modeling and mapping 0 - - Transfer to (from)CIPs 289.42 289.4 To (from) Reserves - - TOTAL OPERATING EXPENSE 177,600 11,163.35 11,612.35 128,111.2 CASH SUMMARY - <	WMWA Educators/Watershed Prep	4,500			44.44	2,000.00
Flood modeling and mapping 0	Rain Garden Workshops	2,000		875.00	75.00	1,500.00
Transfer to (from)CIPs 289.42 289.42 To (from) Reserves 177,600 11,163.35 11,612.35 128,111.2 CASH SUMMARY 4M Fund Balance at 12/31/19 543,439.0 197,091.7 197,091.7 197,091.7 1026,853.4 11,612.3 </td <td>Management Plan/Amendments</td> <td>1,000</td> <td></td> <td></td> <td>12.52</td> <td>125.18</td>	Management Plan/Amendments	1,000			12.52	125.18
To (from) Reserves	Flood modeling and mapping	0				-
TOTAL OPERATING EXPENSE 177,600 11,163.35 11,612.35 128,111.2 CASH SUMMARY 4M Fund Balance at 12/31/19 543,439.0 Plus Revenue Received to Date 197,091.7 Minus Claims Approved to Date (126,853.4 Minus Claims Presented Current Month (11,612.3	Transfer to (from)CIPs		289.42			289.42
CASH SUMMARY 543,439.0 4M Fund Balance at 12/31/19 543,439.0 Plus Revenue Received to Date 197,091.7 Minus Claims Approved to Date (126,853.4 Minus Claims Presented Current Month (11,612.3	To (from) Reserves					-
4M Fund Balance at 12/31/19 543,439.0 Plus Revenue Received to Date 197,091.7 Minus Claims Approved to Date (126,853.4 Minus Claims Presented Current Month (11,612.3	TOTAL OPERATING EXPENSE	177,600	11,163.35	11,612.35		128,111.24
Plus Revenue Received to Date 197,091.7 Minus Claims Approved to Date (126,853.4 Minus Claims Presented Current Month (11,612.3	CASH SUMMARY					
Minus Claims Approved to Date (126,853.4 Minus Claims Presented Current Month (11,612.3	4M Fund Balance at 12/31/19					543,439.02
Minus Claims Presented Current Month (11,612.3	Plus Revenue Received to Date					197,091.78
	Minus Claims Approved to Date					(126,853.46)
Fund Balance 613 677 34 602 064 9	Minus Claims Presented Current Month					(11,612.35)
	Fund Balance		613,677.34			602,064.99

West Mississippi Watershed Management Commission Treasurer's Report

Claims Presented	General Ledger Acct No	September	October	
				Total
Kennedy & Graven				241.20
Legal - General	52001		241.20	
Blue Thumb / Metro Blooms				875.00
Champlin Workshop Pmt 2	57002		875.00	
WaterShed Partners - Membership 2020	57008		500.00	500.00
Wenck Associates				6,876.20
General Engineering	51001		2,819.20	
Project Reviews	51002		2,936.95	
Grant Applica/Research	51005		260.00	
Plan Amendment	51007			
Education Program	57008		450.00	
Water Monitoring Program	58011		410.05	
Judie Anderson's Secretarial Service				3,119.95
Administration	53001		2,411.49	
Bookkeeping / Audit Prep	54002		152.10	
Project and WCA Review Support	53002		135.57	
Education Programs	57008		157.07	
Engineering Support	53004		263.72	
Engineering Support - Plan Amendment	53007			
Total Claims				11,612.35
- Lucie Adamson				
Judie A Anderson, Deputy Treasurer				

Kennedy & Graven, Chartered

150 South Fifth Street, Suite 700 Minneapolis, MN 55402

> (612) 337-9300 41-1225694 September 25, 2020 Statement No. 156988

West Mississippi Watershed Management Commission

JASS - Watershed Administrators 3235 Fernbrook Lane Plymouth, MN 55447

Through August 31, 2020

WE405-00001 General

241.20

Total Current Billing:

241.20

I declare, under penalty of law, that this account, claim or demand is just and correct and that no part of it has been paid.

Signature of Claimant

Page: 1

Kennedy & Graven, Chartered

150 South Fifth Street, Suite 700 Minneapolis, MN 55402

West Mississippi Watershed

August 31, 2020

WE405-00001 General

Through August 31, 2020

For All Legal Services As Follows:

Hours

Amount

8/13/2020

TJG

Prepare for and participate in meeting

1.20

241.20

Total Services:

\$

241.20

Total Services and Disbursements: \$

241.20

Metro Blooms

PO Box 17099 Minneapolis, MN 55417 651-699-2426 www.metroblooms.org

Invoice

INVOICE # 1162

DATE 4/15/2020

DUE DATE 5/15/2020

TERMS Net 30

BILL TO

West Mississippi Watershed Mgmt Comm Attn: Judie Anderson

PO NO:

Champlin workshop: Remainder due 875.00 MN Sales Tax 0.00

Please remit by check or credit card to:	Total	\$875.00
Metro Blooms PO Box 17099 Minneapolis, MN 55417	Payments/Credits	\$0.00
Questions or payments? (651) 699-2426	Total Due	\$875.00

METRO WATERSHED PARTNERS



INVOICE

Attention: Amy Juntunen

West Mississippi Watershed Management Commission

3235 Fernbrook Lane N.

Plymouth, MN 55449

Date: 9/23/20

651-523-2812 jlarson25@hamline.edu

Metro Watershed Partners Hamline University

1536 Hewitt Ave. MS-A1760 Saint Paul, MN 55104 Project Title: Clean Water Minnesota & Adopt-a-Drain

Terms: 30 Days

Description	Cost
2020 Membership: Clean Water MN & Adopt-a-Drain	\$500.00
TOTAL	\$500.00

Thanks for your membership in Clean Water MN. Your dollars support:

- Monthly blog posts with timely, consistent messages to encourage behaviors that improve water quality.
- New photographs that feature local residents taking action to protect lakes and rivers.
- Monthly meetings with information on partner activities, presentations by informative speakers, and updates on WSP activities.
- Maintenance of the Watershed Partners listserv.
- Development and implementation of a clean water exhibit at the Minnesota State Fair in the Eco-experience building.
- Site license to use Adopt-a-Drain.
- Recognition as a supporting partner of Adopt-a-Drain for residents in your service area.
- Access to an administrative interface on <u>Adopt-a-Drain.org</u> that includes access to reporting and other information useful for MS4 reporting and communications.
- Access to purchase print promotional resources with partner logo.
- · Access to purchase mailed packets and yard signs for participants.

Duration of service: January 1 - December 31st, 2020. Unspent funds will rollover to support program activities in 2021.

October 7, 2020

Invoice No:

12006719



Ms. Judie Anderson West Mississippi Watershed Management Commission 3235 Fernbrook Lane Plymouth, MN 55447

Responsive partner. Exceptional outcomes.

Project Manager

Edward Matthiesen

Project

B001241-20-078

2020 General Engineering - West Mississippi

Professional Services Through September 30, 2020

Professional Personnel

	Hours	Rate	Amount
Kemmitt, Katie	.80	99.00	79.20
Matthiesen, Edward	2.80	200.00	560.00
Spector, Diane	10.90	200.00	2,180.00
Totals	14.50		2,819.20

Total Labor

2,819.20

Total Invoice Amount

\$2,819.20

Billing Summary

Current 2,819.20

Prior

27,865.20

Total

30,684.40

October 7, 2020

Invoice No:

12006720



Ms. Judie Anderson West Mississippi Watershed Management Commission 3235 Fernbrook Lane Plymouth, MN 55447

Responsive partner. Exceptional outcomes.

Project Manager

Diane Spector

Project

B001241-20-079

2020 Grant Writing

Professional Services Through September 30, 2020

Professional Personnel

Hours

Rate 200.00 Amount

Spector, Diane

1.30

260.00

Totals

1.30

260.00

Total Labor

260.00

Total Invoice Amount

\$260.00

Current

Prior

Total

Billing Summary

260.00

243.50

503.50

October 7, 2020

Invoice No:

12006722



Ms. Judie Anderson West Mississippi Watershed Management Commission 3235 Fernbrook Lane Plymouth, MN 55447

Responsive partner. Exceptional outcomes.

Project Manager

Edward Matthiesen

Project

B001241-20-082 2020 Project Reviews

Professional Services Through September 30, 2020

01 General Project Reviews

General Project Reviews

Professional Personnel

	Hours	Rate	Amount
Kemmitt, Katie	1.40	99.00	138.60
Matthiesen, Edward	2.40	200.00	480.00
Totals	3.80		618.60

618.60 **Total Labor**

Unit Billing

00-WAI Vehicle Golden Valley

9.75

Phase Total

\$628.35

Phase 04 CBPAMES Building Additions and Renova

CBPAMES Building Additions and Renovations

Professional Personnel

	Hours	Rate	Amount
Matthiesen, Edward	.30	200.00	60.00
Totals	.30		60.00

Total Labor

Phase Total

60.00 \$60.00

440.00

Kurita 05 Phase

Kurita

Professional Personnel

Amount Hours Rate 440.00 2.20 200.00 Matthiesen, Edward 440.00 2.20 Totals

Total Labor

\$440.00 Phase Total

Phase 06 610 Junction – Building 2A

610 Junction - Building 2A

Project	B001241-20-082	2020 Project Reviews			Invoice	1200672
	al Personnel					
			Hours	Rate	Amount	
Kemmit	t, Katie		3.10	99.00	306.90	
	sen, Edward		1.20	200.00	240.00	
	Totals		4.30		546.90	
	Total Labor					546.90
				Phase	Total	\$546.90
		Woodenring Suites Hote				
hase	09	Woodspring Suites Hote	:1			
	Suites Hotel					
Profession	al Personnel					
			Hours	Rate	Amount	
Matthie	sen, Edward		.50	200.00	100.00	
	Totals		.50		100.00	
	Total Labor					100.00
				Phase	Total	\$100.00
	10	NorthPark Business Cen				
Phase	10	Nottileary pasitiess cen	ittei			
	usiness Center					
Profession	al Personnel		_			
			Hours	Rate	Amount	
Kemmit	tt, Katie		3.00	99.00	297.00	
Matthie	sen, Edward		.50	200.00	100.00	
	Totals		3.50		397.00	
	Total Labor	•				397.00
				Phase	Total	\$397.00
 Phase	19010	Mississippi Crossing				
Mississippi (•				
	al Personnel					
	·····		Hours	Rate	Amount	
Vananti	tt Vatio		5.30	99.00	524.70	
	tt, Katie		1.20	200.00	240.00	
Matthie	esen, Edward		6.50	200,00	764.70	
	Totals	_	0.50		704.70	764.70
	Total Labor	Γ				
				Phase	e Total	\$764.70
				Total Invoice A	mount	\$2,936.95
		Current	Prior	Total		

October 7, 2020

Invoice No:

12006713



Responsive partner. Exceptional outcomes.

Ms. Judie Anderson

Shingle Creek Watershed Management Commission 3235 Fernbrook Lane

Plymouth, MN 55447

Project Manager

Diane Spector

Project

B001240-20-219 2020 Education and Outreach

Professional Services Through September 30, 2020

Phase

General Education

General Education

Professional Personnel

Hours

Rate

Amount

Spector, Diane

4.50

200.00

900.00

Totals

Total Labor

4.50

900.00

900.00

Phase Total

\$900.00

Total Invoice Amount

\$900.00

Billing Summary

Current

Prior

Total

900.00

23,109.40

24,009.40

5C Education - 450.00

WM Education - 450.00

October 7, 2020

Invoice No:

12006721



Ms. Judie Anderson West Mississippi Watershed Management Commission 3235 Fernbrook Lane Plymouth, MN 55447

Responsive partner. Exceptional outcomes.

Project Manager

Diane Spector

Project

B001241-20-080

2020 Outfall and Stream Monitoring

Professional Services Through September 30, 2020

Professional Personnel

		Hours	Rate	Amount	
Kemmitt, Katie		1.80	99.00	178.20	
Kemmitt, Katie Stone, Alicia		1.80	87.00	156.60	
,	Totals	3.60		334.80	
	Total Labor				334.80

Outside Services

RMB Environmental Laboratories, Inc. 58.00

Outside Services Total 58.00 58.00

Unit Billing

00-WAI Vehicle Golden Valley

17.25

Total Invoice Amount

\$410.05

Current Prior Total Billing Summary 410.05 8,012.80 8,422.85



3235 Fernbrook Lane Plymouth MN 55447

Shingle Creek / West Mississippi Watershed Management Commissions 3235 Fernbrook Lane Plymouth, MN 55447

October 5, 2020

			Sh	Shingle Creek		v	Vest Missis	ssippi	Total Proje	ect Area
	Share	G/L							SC	WM
Administrative		53001	0.25	60.00	15.00		60.00	-		
Administrative	70-30	53001		60.00	-		60.00	-		
Administrative		53001	21.38	65.00	1,389.70	13.44	65.00	873.60		
Administrative	70-30	53001	26.12	65.00	1,188.46		65.00	509.34		
Admin - Offsite		53001	0.67	70.00	46.90	0.67	70.00	46.90		
Admin - virtual meeting	70-30	53001	3.58	70.00	175.42		70.00	75.18		
Office Support	70-30	53001	12.00	200.00	1,680.00		200.00	720.00		
Data Processing/File Mgmt		53001		55.00	-		55.00	-		
Data Processing/File Mgmt		53001	0.27	60.00	16.20	0.27	60.00	16.20		
Data Processing/File Mgmt	70-30	53001		60.00	-		60.00	-		
Admin Reimbursables		53001	524.31	1.00	524.31	170.27	1.00	170.27	5,035.990	2,411.490
Bookkeeping		54022	4.00	65.00	260.00	2.34	65.00	152.10		
Audit Prep		54022		60.00	-		60.00	-		
Audit Prep		54022		65.00	-		65.00	-	260.000	152.100
Project / WCA Reviews - Admin		53002	0.96	65.00	62.40	0.53	65.00	34.45		
Project Reviews - File Mgmt		53002		55.00	-		55.00	-		
Reimbursable Expenses		53002	89.16	1.00	89.16	101.12	1.00	101.12	151.560	135.570
Education - Admin	50-50	57008		65.00	-		60.00	-		
Education - Admin - virtual	50-50	57008	3.16	70.00	110.60		70.00	110.60		
Education Grant	50-50	57007		65.00	-		65.00	-		
Website	50-50	57008		60.00	-		55.00	-		
Website	50-50	57008	1.43	65.00	46.48		60.00	46.48		
Education Reimbursables	50-50	57008		1.00	-		1.00	-	157.075	157.075
Engineering Support - Admin		53004	0.98	65.00	63.70	1.08	65.00	70.20		
Engineering Support - Admin	70-30	53004	7.81	65.00	355.36		60.00	152.30		
Engineering Support - virtual	70-30	53004	0.67	70.00	32.83		70.00	14.07		
Engineering Support Rembursable:	70-30	53004	70.85	1.00	70.85	27.15	1.00	27.15	522.735	263.715
					6,127.36			3,119.95	6,127.360	3,119.950